cale of 1 to 5, where 1 is low and 5 is high, how disappointed would he [resident father] be if you did not graduate from high school?

@ H2WP16 - On ascaleof 1to 5, where 1islow and 5 is

high, how disappointed would he [resident father] be if

vou did not graduate from high school?

On a scale of 1to 5, where 1 is low and 5 is high, how disappointed would he [resident father] be if you did not
graduate from high school?

1 1 (low)

5 5 (high)
6 already graduated from high school
Conceptual Variable

2589 - On a scale of 1 to 5, where 1 is low and 5 is high, how disappointed would he [resident father] be if you did
not graduate from high school?

lof1



	H2WP16 - On a scale of 1 to 5, where 1 is low and 5 is high, how 

